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3. Developing NLTH simulation models for skew bridges


4. Exploring and quantifying skew-bridge response




Anatomy of an Abutment




Skew-angled abutments




Skew Bridge Challenges
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Bridge A: Two Span – Single-Column


T1 = 0.93 sec.

T2 = 0.61 sec.




Bridge A: Two Span – Single-Column
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Bridge A: Two Span – Single-Column




 Two spans: 47.2 m + 44.2 m


 Continuous cast in place 
prestressed concrete box 
girder. Cap beam integral with 
the deck 


 Two RC circular columns with 
1.7 m diameter supported on 
CIDH Piles


 Reinforced concrete seat type 
abutments


 Non-skewed abutment bridge


 Concrete piles


Bridge B: Two Span – Multi-Column


T1 = 1.37 sec.

T2 = 0.69 sec.




 Three Spans: 47.6 m + 43.9 m + 
36.0 m


 Continuous cast in place 
prestressed concrete box girder. 
Cap beam integral with the 
deck .


 Three reinforced concrete 
columns per bent (1.68 m 
diameter)


 Reinforced concrete cantilever 
type abutments


 Skewed abutment bridge (36 
degree skewness)


 Steel piles


Bridge C: Three Span – Multi-Column


T1 = 1.66 sec.

T2 = 1.24 sec.




Bridge B: Column Drift vs. Skew Angle




Bridge B: Column Long. Drift vs. Skew Angle




Bridge B: Column Trans. Drift vs. Skew Angle




Bridge B: Deck Rotation vs. Skew Angle




Updated Abutment Model








Next Steps 



